Rounding Practice 3

. Round a population of ‘4,339,156 to the nearest million.

—

. Round a population of 4,340,410 to the nearest million. —
. Round a population of . 613,130 to the nearest thousand.

. Round a population of - . 411,391 to the nearest thousand.

. Round - 22,953 to the nearest hundred.

. Round . 351,585 to the nearest ten-thousand.

. Round 876,037 to the nearest thousand.

. Round 16,438,492 to the neareat hundred-thousand.

. Round 3,563,268 to the neareg¥ . million.

. Round 9,621,676 to the nearest hundred-thousand.

e




